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K4 T4 31 FHEEE  #EIK 1B H 2[A18 3B VIS 5[E18 ToAMRI KRB EEET R [[=Liva
BJINE % A mojo5 26 1084 1000 390 4 0 2500 2750
EiBEZ B B prion3 2000 435 123 41 2000 5 0 2599 27005
HilHD' % B mojo5 410 529 2000 4% 4 1 4939 15305
SHBAARER B B bolero4 2000 2000 519 660 4 0 5179 14105
BHEHh B B element?2 2000 1080 2000 750 4 0 5830 1085
FEFRE B B element 2000 99 2000 2000 4 0 6099 950.5
HEES & B mojo5 1060 2000 %4& K& 4 2 7060 470
BEHE B B mojo5 1635 2000 2000 2000 4 0 7635 182.5
H _E#kin %= A ALPHA5 %% L 2000 2000 4 2 8000 0
FRERXE % B prion2 2000 2000 2000 2000 4 0 8000 0
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